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— ~ Express the result of the following calculations to the proper number of significant figures:
(1)0.335+ 1.774 + 10.82 ; (2) 6.447 x 1.30 + 0.9258 -

— - Write a balance equation according to the following equation . What is the largest mass of Cl,
that could be prepared from the reaction of 15.0 g of MnO; and 30.0 g of HC1? (Mn: 54.94; Cl:
35.45; H: 1.008; O: 16.00)

Mn(Q, + HCl = MnCh+ Ch+ H,O

[

» Urea [(NH ), CO] is used for fertilizer and many other things. Calculate the number of N, C,

0, and H atoms in 3.36 x 10* g of urea. The molar mass of urea is 60.06 g.

P4+ For the complete redox reactions given here » write the half-reactions and identify the
oxidizing and reducing agents : (1)4Fe+30, — 2Fe,0; : (2) H,+Cl, = 2HCI

F ~ (1) Water is added to 25.0 mL of a 0.866 M KNO, solution until the volume of the solution
is exactly 500 mL. What is the concentration of the final solution ? (2) Calculate the

concentration (inmolarity) ofa NaOH solution if 25.0 mL of the solution are needed to
neutralize 17.4 mL ofa0.312 M HC! solution.
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